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HHSMTE (TRE 1.0)
U9 TA-4 (T 11 ¥ 12 @)

ST Aigd &t 994 uFA

Part-I : General Studies

How many three-digit numbers are divisible by

57/t 37eht st TeRat T 5 | faarsr €2

(Exam Date : 26.08.2023, Shift-ITI)

The distance between Delhi and Agra is 200
km. Suppose you are travelling from Delhi to
Agra by a car. If you can maintain an average
speed of 90 km/hr for 120 km and 40 km/hr for
the remaining distance, how much time will

(a) 180

(b) 200 you take, on average, to reach Agra?

(©) 120 feeelt ofit ammr & sfer @ g 200 T . ¥
A ST 31T feeet § PR T &R gRT S

d) M h f the ab

@ Wore tﬁa;(:;;;;;ove w® 1 afE amw 120 . . & fora efvwa wifw 90

. Wi /d. fr ament gl o o sfa Tifa 40
fep. /4. T TEd €, O STueR SINRT uge
T 3 feham awa w2

(a) 3 hr 20 min/3 =T 20 fie
(b) 3 hr 30 min/3 =T 30 fie

(e) None of the above/?fclé?ﬁ 79 g T8

Ans. (a) : 5 9 s g9 arel ugelt & i &t He
100 2 @1 5 § foaifSia &9 e 3 37 W god =g
T 995 81 59 WK Heliw® 5 &M

7| S 2 .
(c) 4 hr 45 min /4 =T 45 fiAE
t,=a+((mn-1)d
995 — 100+ 5 1) (d) More than one of the above
= = n-— .
IEdH § § wE § s
n=180

(e) None of the above /374 § ¥ g el
2 The value of 1+l 1+1 1+l 1+L
' 2 3 4" 120 Ans. (a) :

— 200 km——
A ST 1 faet
a) 60.5
( ) T = E
(b) 30.0 e
c) 40.5
© TRAER -
(d) More than one of the above 120 (200-120)
. _J,-—_
IEH § § wE § s | % 20
(e) None of the above /35w ¥ ¥ T T&I 120 80
= —t—
Ans. (a) : 90 40
(1+lj(1+lj ....... (1+Lj 4., 10
2 3 100 3 3
3.4 121 =33 902
23 120 71 3 gu 20 fie [~ 199 =60 fiFe]
= lx121 4. 10% loss on selling Price is what percent loss
2 on cost price?/fhd TeT W 10% <kt EA,
=60.5 ST ot W feherny wlerorer =t @ity €2
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1
9—%
@) 97%

2
b) 9—=%
(b) 957 %

(c) 10%
(d) More than one of the above
IEH § H U ¥ A
(e) None of the above /30w § & HIF FaI

Auns. (a) : fo5Fa 7o W @I 89 -

g %100

AN qod W i g =00+ e

_ 10x100
110

= 9%
11

5. A pizza boy delivered two-fifths of his pizzas on
day 1, three-fourths of his pizzas on day 2 and

% of his pizzas on day 3. On which day did he

deliver the most pizzas if he had the same
number of pizzas in the beginning of each day?

Te Tt aren weer fam Qr-utere foesT, g
fot it frsen s et et - s
T forawur wear 71 Al wdes fam it yreena
36k UTH W @ | fusen 9, o 39 fRe
(a) Day /98 fea
(b) Day 2/3R f&
(c) Day 3/0 R faa
(d) More than one of the above

IEdH § § ¥
(e) None of the above /35w ¥ ¥ g Fai

Ans. (b) TSR - Y& fa & yweT@ #§ fossi &t
T G & gl 31 fossT fareRor & AEn =

I fE= %x100=40%
3
nfE = Z><100=75%

m fe7 = %xmo =56.25%

6. The cost of carpeting a room 18m long with a

carpet 75 cm wide at ¥ 4’50 per metre is T 810.
The breadth of the room is

18 HieX o ek wW H, 72 QA =g el
T ST ohleh, TeAren forsT™ & &t T 450
gfer die o oT @ T 810 1 Y & < ¥

(a) 7 m/7 HiX
(b) 7'5 m/7'5 HiX
(c) 8 m/8 HeX
(d) More than one of the above
i § & T &
(e) None of the above /3‘1'@?5 g ﬁ's: EH|

Ans. (b) : FFT R I =8E = b HieX
TR,
810

18b= 0.75x——
4.50

b=7.5m.

7. Two persons A and B complete a task in 15

days, when they work together. Person A
complete the task in 20 days if he works along
How many days will B take to finish the task
along?

2 A A 3R B UH W & 15 Tl § g
| £, gt ¥ T WT W W@ ) =E A
3TeheT ST T T 20 oAt B I o I 1 Tw
W 3YoheTt B feraw foat ® owr &Y wmmm?
(a) 35 days /35f&1 &
(b) 25 days /25 & ®
(c) 60 days /60 f&=T &
(d) More than one of the above

SE® § § @ 9§
(e) None of the above /Kq?i’rﬁ ag %ﬁ EHl

o T ¢ 5 g T v e fossm fameor o

Ans. (c) : AT B & 3Tl &M U & # 'x' fa &

1 1 1
—_— =
20 x 15
x+20 1
= =—
20x 15
= 15x +300 = 20x
_ 300

x = — =60 days
5 y
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8. The sum of the numerator and denominator of
a fraction is 11. If 1 is added to the numerator
and 2 is subtracted from the denominator, it

becomes % The fraction is-

Ter AT o7 3097 31T 8T a1 I 11 €)1 afe o o
1 Sire foar oo iR g & | 2 "er four o, ot

T8 % Y STar 1 R 8-
(a)
(b)

(c)

(d) More than one of the above
IEH § ° U ¥ A
(e) None of the above /30w ¥ ¥ I3 TaI

| Ll an|lwm

X

Ans. (c) : 991 e =

x+y=11
TRAMER,

x+1

y—2

(1)

2
3

=  3x-2y=-7 (ii)
T (i) H 2 F O Fh T (i) H Sied W
2x +2y =22
3x-2y=-7
5x=15
x=3
y=38
w&aﬁgﬁazg

9. An isotropic source of 2 candela produces light
flux equal to

2 FTOM W UHk WHigen wa Rar weRor
AT T HAT E, B ]

(a) 2n lumen/2n THT

(b) 47 lumen /41t?{ﬁ?

(c) 8n lumen /87 TIAA

(d) More than one of the above
IEH § ° U ¥ A
(e) None of the above/&"?@?ﬁ 79 g T8

Ans. (¢) : ST FAFT THHSRK Fb1TT T & ®9 § 54
Y 9t Gshve oo ATl b St 21 T SR o
(Im) 2, RT8 T H=cll & & % 9 gHE o/ Ho7 d
fifed woreg & ®9 § uRwifE fear o ? erefd
T 98 ST ol &, S 1 e @ Aifg dwar @
uafyss {35 B Ui == B0 # ST F 2

JEHR,
feam o 8

&l ¢ = TR FeId
7 5 ¢ f6

d=4mxi

d=4mx2

¢ =8 m THA

10. The spray bottles used as window or household

cleaner or perfume sprayer work on

oSt o ey w0 TRE SR % w9 H
AT W Aot W Aot teriad ¥ |
R R T et &2

(a) capillary action /3T fomar
(b) Bernoulli's principle (AR 1 fagia
(c) Pascal's law /9&hal &1 fam
(d) More than one of the above
IEH § § wE § s
(e) None of the above /Kq?i’rﬁ g %ﬁ EH|

Ans. (b) : fEl a1 R FAR a1 TRW R TH FFR FH
BT ITHRT &, ST W F A § WA & herd F gfaen
YEM I 21 T8 IUHT aAel gl W HE H
21 39 fasid & oER ‘B e a1 5= A g At
Sl A @ Hort, Refast o 3K Tfas S Fraa @
2 a7l f9 M W 59 &1 97 B9 & € 98l & 3w
g ST @ 3 9 e W g9 & A e g 8, ael
@ HA B S g1 3 R SRR § us afte @ik
el T B 8, S U W Y oeed Je e 2l
zqd el archl et B ur # gae gl § 99 ¥ e
e weTfed sed €, o afas T & gt qm §
arg & s 9T F RO @ g @ § R g U
Tt 3R SR TET A & 3R ag &k WY e o
FAR F &9 § o bt 21
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11. The trade name of basic lead carbonate is

AT (Sfieh) 9 S ol AT A7
(a) white lead/THaT (e TE)
(b) red lead /AR (T )
(c) lithargeff%'mﬁf
(d) More than one of the above
IH § ° U ¥ A
(e) None of the above /30w § & T Fai
Ans. (a) : e T a1 A AT FHEHS Th TR

2iftrss 2, fge @A I Pb(OH), 2PbCO; &Il 7|
ey § % Ghe 99l UH Hhe Usel 8, S g
sEia ¢ A 7] TR § gomeia 21 sue 3=
JRERTAT 3R TR 3N F9T % G I Fo i &Far
% HNOT 3THI STAN U H, The TT5sd o &7 § foha
ST € a1 Sfary Jee T B F FROT Hied e #
o I AT ST 1 ETelith F aferten ferdten B @
3 g o # Sifgw der e g |

o T 22T MRS H | /A Rigywh R *ar
ST 8| THH TS G Pb;O, Bl 21

o o oHEEE H forare ff Fed B A UH Swawdf
HiFrgs 2, fge TErEfs g PbO & 2|

Which of the following elements has the largest
atomic radius?/frfalaa & ¥ forg o =i

AT e e et §2
(a) Lithium /faferas
(b) Beryllium [aftferem

12.

13. The phenomenon of photo-periodism in plants

was discovered by
dreft § gdftaertierar st @S & ot &
(a) Garner and Allard/TR 3R Tl
(b) Steward and Salisbury/=Tee 3 aferasdt
(¢) Thimann and Skoog/Zﬂﬁ? 3R LSl
(d) More than one of the above
SE® § § @ 9§ e
() None of the above/3Td® ¥ & I3 T&i

Ans. (a) : Gt & Feiftqeper & @S T SR T J

11920 & 3t off) 3 Ut F gt fowd F fow ffm

e H S S SEvdshal el §, 3§ & wel

Tdftqaiferdl (Photopriodism) ®ed 81 7@ dtef w =&

afes e W o @0 g 31 Fhfaefera & STeR W

dtell st i e # afer wr @, S e g-

o ol T aret - 59 el B s #H s
YT Bl & F Ut 31y o 7 A de (LDP)
BT 1 S- T, e, g S |

o B fom At Wia- A Wi # owww # Fw
HETIHA B 8, 3% B & At di¥ (SDP) el
S &1 Y- e, e, Wi, der S |

o & derr dO- 9 oY N T i derE & wWeR
T 51 Bt o1 ®, & desy W9 (DNP) &eeld 2|

Y- AW, AR, FhEI A

(c) Boron [ARET 14. Silent Valley of Kerala is preserved because
(d) More than one of the above HTA ol Ia = ('{11??@2' aT'ﬁ) e ¥,
I H ¥ § e TR

(e) None of the above /3'5@?’6 7 9 ®E T (a) it contains very rare species of plants and
Ans. (a) : 55 T] & TfE @ 36 @A SeER animals/FHH 1 S S i AET & el
Fa % f S g0 B ] B ded 81 gEsHa sonfert o ST &
mﬁ%m Eiﬁi a‘?ﬁ? il Q; ;’é]ss W@gqﬁ%i (b) the soil is rich in minerals

ATHR RASLEYS IR -
MER R oo 1 Fuior s 81 se7 & SER W A et R
F rAT-3A B Bl zEfaw AL A Frg fafm (c) the areas of land were used extensively for
TRRT S BT 81 TEfeTT oy i HiE o e 3 g agriculture purposes
T M FE R FuiRa # oS 3 swde fwer # i EreH & T 9 & el @ A duH W
feferem & oA s (167 pm) waifess @1 o fampedt ST BT ST o
pm 3 e A 1 TS e 112 pm T 87 (d) More than one of the above
e« Fifeam & ] e waifues (348 feie) 95 7 5w § oA
ST S T BT = (0.208 nm) B (e) None of the above/3Tt & & i T
Bihar Teacher TRE 1.0 (Class 11 to 12) Sociology 2023 6 YCT



Ans. (a) : A H I A (FEAS ey H i e
S A dgd @ ged genfaar oE W @1 g W
ALl & 41 wonfoar, afe@i b 175 genfoat, e
H 164 § 3 yefaal, TOGY & 49 T IHIR H
47 T T H 400 T e sonfaAt O S @1 LA
2 7 7l | I A 4D a1 gk s gE S g, S
T H T TSI §) sEA, P, g i
FgiR T F TE SN W 81 oad 1914
qrEeic deft & & Sel B I & adr 1984 @
T UM EnfYa feRar AT e

15.

During normal respiration in a mammal, the
diaphragm is

T § A g6 % SN ST ST §

(a) arched /9T
(b) flattened /=9I

(c) lowered /A=l €41 g3
(d) More than one of the above
IEdH § ° U ¥ A
(e) None of the above /3‘1@?5 ag @'sc EH|

Ans. (d) : TR § SEATHM, H%el & A9 fod g9
F s wE g 1 g R § Wi o ek wie
ST WHA 1 T o9 F INE TER F HR H
SETEM TUeT (V) & S @ SR Al fX wea
uiguiyEt fape S R, S gEferdl & iR A sw &
AR diedt 2, g Fefm smEaT § gfs @ @ el
BHRH T B & S 2 SR AR ¥ g9 Bhel § el
S 21 FE WE Bied @ 4fhAT & SN 3R IR
Hig- Ul gEferel & SR & efer e A @ sk
uhertt g8 ffae & S 2, 9 a9 @ e & A
ST 8 A GEEHE @ 9% S ¢ S g Hwsl @
el el i AR @ S 21 o W @ fh gee
R % SN SHTHM TF § 3% SR & 2 o |

16.

The most important cell type associated with
the immunity of the body is

TR @t yfeias e ¥ I Jed Wewagut
SRITITeRT YR §

(a) platelets [T
(b) lymphocytes [ferrmaTge
(c) RBCs /3T, . €.
(d) More than one of the above
i § & T &
(e) None of the above/3Td® ¥ & I3 F&i

Ans. (b) : TTHIEEEY TH THR 1 A9 BT &, I
g AL T GhAUT § @i H Heg Sl 21 F gAR TR
T AT Th RIS H FA GG F AT 20 T 40
A9 Bt €, S g9 UREERUl F a9 e foehigs
3 # e S # i

17.

The book entitled, Gyan Deepak was authored
by a great saint/7= Uk ATHH T&Ih ki T

TohH WE™ ©a o &t oft?

(a) Salar Masood Ghazi /HTR AgE TS

(b) Dariya Saheb /ZRaT TR

(¢) Imam Shah Faqih /3819 ¥IT§ $ehig

(d) More than one of the above

IEH § § ¥ A

(e) None of the above /35w § § @I a1
Ans. (b) : I 9% THF TEh Hl TAT HGH Hd &R
AR 7 # A 5% R 9 A R g F A g off
ST S 21 F 9N Hf $R sRaenl gwee &
YL 41 3% FAX H SFIAR AAT e 21 3814 20
At g fogdt 8, e @ 3 s ok afan wew
Y@ 81 e € o aRen sRe e St 7

18.

Which agency in India has launched UTSAH
portal?/9Ra ® fehE TSHE ¥ UTSAH Wieet &l

AR femar €2
(a) UGC /7. Si. 4.
(b) AICTE /u. 3m3. . &. §.
(c) MCI /ug. 9. 31E.
(d) More than one of the above
IEH § § wE § s
(e) None of the above /30w ¥ ¥ HIF TaI

Ans. (a) : MW 3T AW F = Vel GEl §
g fRem g 2020 F @At R gHS WA
Tq B TAE T gh B F fAU UTSAH

(Undertaking Transformative Strategies and Actions in

Higher Education) 9i¢e @i foar 21

19. A. P. J Abbul Kalam Satellite Launch Vehicle

Mission was launched on

T . W TgA el HAGE Tl kel
Ty &t & feRan T an

(a) 13th February, 2023/13 ®%&d, 2023 H
(b) 20th February, 2023/20 B, 2023 i
(¢) 19th February, 2023/19 ®&, 2023 &
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(d) More than one of the above
SE® § ° @ 9§
(e) None of the above /35w § ¥ T Tai

Ans. (c) : B TH. 3. 3¥KFA FAW FedRe A RHHd
e #1119 wEd 2023 H deAg & gEem g 9
dear forar o 11 39 faem § 100 ¥ 31 T Wt
% Fo 2000 BET A e foran a1, R sevF Bl A
il fagm & &7 § 3R &0 & fou & "9 3e=
HET 91| AqeT & % Wi wisey™ g/ deiee & 85%
HRET T 21

20.

In which city was the first pure green hydrogen
plant commissioned?/fFT I W WIH Vg

(a) Hyderabad/émﬁ

(b) Mumbai /455

(c) Punefglﬁ

(d) More than one of the above

SE® § ° U 9§ s

(e) None of the above /35w ¥ § I a1
Ans. (e) : 3T 3fear fIfids s o™ &% Sitee Uy
QYA W 10 fhemm sfafe i wnfug ewar & 91y 9
F WA 99.999% IE H TESOH Wie H I B
T off| 7@ 99 500 kw SR AT g 100 kw TAEA
THFES U (AEM) $oieeiaigsR W &1 SUANT &k
39 fasTell ¥ gRA gIgSiei Scaied il 2

21.

Which year has been declared by the UNO as
the 'International Year of Millets'?

WY Y Y g0 fRE 96 @ imug faee
o’ e feRa T €2
(a) 2023
(b) 2022
(c) 2024
(d) More than one of the above
SE® § § & 9§
(e) None of the above /3T® ¥ | 5 a1

Ans. (a) : 9% TP 99 5 a9 2023 & ‘FREH ficre
a8 ifid T R A THE 9NG WHR 30 a9
2018 # @@ 3 FM FWST (FAO) & a8 2018 #

fran e a1 o 3Evg SEer Soery
Rftgfaal # 42 3 % TN SR e | 3R SHe
Gt FI UG & TR H STEHAT oA 21 eAwe 2 6
A SR 1 WY T81 ek 8, S di¥d Seqed &
20% AT TR 3 I B 80% B

22. Who among the following won the 2022 Nobel

Peace Prize?/fFfaifiga o 4 feras 2022 =T
rerer Frifer YTERI Srar?
(a) Ales Bialiatski /Teid faranferamcesst
(b) Nadia Murad /ATfean 7=
(c) Maria Ressa /H1RaT feal
(d) More than one of the above
IEH § ° U ¥ A
(e) None of the above /35w ¥ & T TaI

Ans. (a) : T9A [EFHR, Ted & AH FSHS T &
e # fen S 21 3% 3 SR SEAmse % fag
ST ST 1 e R geelt a) ad 1901 # faw e
9| I8 TSR TF ACT-3NA &t # A S 21 e
2 fop wifer &1 Foct R B DR Tt IR whed
% g U S &1 wifd 1 A R T % g
S gl oad 2022 H AWA Wid SR o™
fornferamaant = Sfar o1 a9 2023 & A R e
T TR -

o Wiferaht o &% W - R oifnfic, WY Hewd, T
T T gfere

o WER & & ¥ — Hif S Iy, g9 € ogw a
Telerdl 37E. WfepHrE

o Tafehean & @ W — Ferfer Ffar 3R g drewa

o Vif & & W — ST Sl R g

o igeA o &N H — S B

o TV & A W — Fafear Mmiced

23.

Who is the Chairman of the State Commission
For Backward Classes appointed by the Bihar
Government on 2nd January, 2022?

2 Sadt, 2022 W fER WER g g T
Trser vt =T & Sreue i &2
(a) Justice Sanjay Kumar /==rdfd ¥ $AR
(b) Justice Balmiki Prasad Sinha
=y aTeifs wEe
(c) Justice Igbal A. Ansari
R 3T W S
(d) More than one of the above
S 9 TF § s
() None of the above /35w § ¥ T FaI
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Ans. (a) : 2 SEY, 2022 & SRR SR g TSI AT
FH [T A gU U FEHE kWA AR
TS FAR & U7 frser ot e & eteay feh o
oaN e @ % SRR TER 51 ey % aRe 9 e
T =5 o S stemean # tfq fwer avf o & MeA
fopam e 8, ST giw B i MeeeR & s e
e F o el & Y e 1 SR i 7w
TN qger 9’ a¥ 2006 § w@fiq foam T v

24,

Which was the first movie in Bhojpuri?

wirgdt %t el frew W= oft?

(a) Ganga Maiya Tohe Piyari Chadhaibo
Tt e e el e

(b) Kanyadan/sh-araTq

(c) Nadiya ke Paar/Afe=n F IR

(d) More than one of the above
IEH § ° U ¥ A

(e) None of the above/3T® ¥ | I a1

Ans. (a) : I9GT F Teel fhew T A AR fel T
4, S ad 1963 # Reiw g8 ff1 39 fihew & e au
TSR FAY: FR FAR 71 3519 9= ImerEre 4|

25.

Arrange the following thermal power projects
of India from east to west :

T 3 Frferad enfer wa W w O
iy fen § ety wit:

1. Kota /&I2T

2. Namrup /AHE®Y

3. Obra /3T/&

4. Parichha/afist

Select the correct answer using the codes
given below:

fre=r fau T FHe 1 7= & q@€ I g

(@) 1,2,3,4

(b) 2,4,1,3

(c) 2,3,4,1

(d) More than one of the above

IE® § ° T 9§ s

(e) None of the above /35w ¥ | I T8I
Ans. (¢) : 9Ud UR wiie YRd & THE ueR g §
forsTelt &1 T FreT T AeE S § 1 S et §
fow My edfer ofeR SieERl &1 qd @ afym ww e g
THET (3799 § fod), M (SW I & GA9s et §
ferd), e (ST wewT & F Bfer 7 afdar A & R
fe) & shier (o # o) 21

26. Which type of climate is in India according to

Trewartha?/f&amat & ATER AR &t AAaTg
fore w1 §?
(a) Savanna type /HaTl JhX
(b) Subtropical monsoon climate
JUST A STerayg
(¢) Mediterranean type/HEIENIE T
(d) More than one of the above

IEH § ° U ¥ A
(e) None of the above/&"?@?ﬁ 79 T8

Ans. (b) : feamal & STHR WG &t FaR] AT AFGHA
TER 2| g @l % &l 3N 30°-45° swiwh %
T YEEETNYE o] & e @) gue fawn
TR % uferl e § uEn S 81 39 YR i Searg
¥ ofor wq F o S ¥ e WeR WHH F Bl @
IeqE B 2

27.

What is the normal date of withdrawal south-
west monsoon at Hyderabad?

TUEe § efu-ufym wmgE & arudt @@

T fofer s €2

(a) Ist October /1 A

(b) 15th October /15 3TFsX

(c) 1st November /1 %X

(d) More than one of the above

SE® § ° T 9§

(e) None of the above /35w ¥ | I a1
Ans. (b) : SRIUT-UHT AFEA TF SER & A g4 g,
ST feg HEMEIR SN oW IR # 3R ¥ 9Rd & SfRv-
ufeft T A SR Fed gL WA, iihEW g aees #
S ¥ faereR & e oIy wOd §1 g AEEE SR 9
TR W & A9 A e 8, R A @ fada

Fe ST &1 evae # afu-ufym A w6t At w6t
= fif 15 TR 7|

28.

Which of the following States has maximum

urbanization?/fr=feflaa & ¥ fogw = #
TR Tt &2

(a) Goa /TaT
(b) Maharashtra /AgIY
(c) Karnataka /&I

(d) More than one of the above
IEH § § wE §
(e) None of the above /30w ¥ ¥ HIF Fai
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